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Write and solve an equation for the following situations. SHOW WORK
1) Al Plumbing Service charges $35 per hour plus a $25 travel charge for a service call. Good Guys

Plumbing Repair charges $40 per hour for a service call with no travel charge. How long must a service call
be for the two companies to charge the same amount?
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2) The Lone Star Shipping Company charges $14 plus $2 a pound to ship an overnight package. Discount

Shipping Company charges $20 plus $1.50 a pound to ship an overnight package. For what weight is the
charge the same for the two companies?
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3) Eighteen less than three times a number is twice the number. Define a variable, write an equation, and
solve to find the number.
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4) The polygons below have the same perimeter. Write and solve an equation to find the value of x.
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5) Nelson saw the sign to the right at a diner. He bought one of each
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item and spent $7.50.
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A) Write an equation to determine the value of x.
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B) How much did the drink cost?
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6) Solve the following equations. SHOW WORK AND CHECK YOUR ANSWER
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